Redlands College

Year 11 - 2024

Booklist Requirements

Booklist Supplied by:

Mt Cotton Rd News – Capalaba

157-159 Mt Cotton Rd Capalaba 4157

Ph: 3245 5453 or 0493 154 215



Order at: www.mtcottonrdnews.com.au

Ordering Information & Key Dates

Place your order On-Line at <u>www.mtcottonrdnews.com.au</u> following these simple steps.

- Create your account (Or login to your existing account & Check your details are correct)
- Select the 'Order a School Booklist' Tab, then Select your School & Grade
- *For Years 6-12 Select ALL Subjects you are ordering for and continue. (Only these subjects will show)
- Complete your order by adjusting any quantities to suit your needs. (Submit and if ordering for more than 1 child, add another order by following the steps again)
- Once all orders are loaded, complete the 4 Step Check out process until you receive an order confirmation number on the screen to confirm your order is placed. (an email receipt will also be emailed)

On-line orders are preferred, however paper orders are accepted directly to Mt Cotton Rd News by

How to Make your Payment

Payment can be Made online with Credit Card, or by Direct Deposit.

Collection Details

Once your order has been packed, we will send you a Text Message to the Mobile Number on your account to let you know your order is ready to collect from our Store

Should you have any difficulties placing your order, please call our store on 3245 5453

2024 Redlands College – Year 11

Student Name: ______ Surname: _____

Email: _____

Parent Contact: Name: _____ Phone: _____

Order online at www.mtcottonrdnews.com.au

QTY	Description	Price Each	Line Total	My Order	Line Total
*Genera	Stationery Requirements				
1	Pencil HB Faber Economy 1111 Single	\$0.30	\$0.30		
1	Pencil 2B Faber 1221	\$0.50	\$0.50		
1	Scissors Westcott Student 203mm	\$4.55	\$4.55		
or	Scissors 158mm LEFT Handed Osmer	\$2.30			
1	Highlighter Faber YELLOW	\$1.25	\$1.25		
2	Pen Artline 8210 Medium Black	\$0.45	\$0.90		
2	Pen Artline 8210 Medium Red	\$0.45	\$0.90		
2	Pen Artline 8210 Med Blue	\$0.45	\$0.90		
1	Eraser Large Faber Dust Free	\$0.69	\$0.69		
1	Glue Stick Artline 40g White	\$2.15	\$2.15		
1	Stapler #10 with staples Osmer	\$3.75	\$3.75		
1	Stick-On Notes Yellow 76x76	\$0.90	\$0.90		
1	Correction Tape Osmer 5mmx6m	\$1.95	\$1.95		
English					
2	A4 Exercise Book 64p Writer Premium	\$1.18	\$2.36		
Essentia	Il English				
1	A4 Exercise Book 64p Writer Premium	\$1.18	\$1.18		
Essentia	Il Mathematics				
1	Scientific Calculator Casio FX82-AU 2nd Gen [New Students Only]	\$42.50	\$42.50		
1	A4 Notebook Quill Q595 (Poly Cover)	\$3.20	\$3.20		
1	Ruler 30cm Plastic Clear	\$0.50	\$0.50		
2	A4 Olympic 5mm Graph Book 96p (Border around Page)	\$1.85	\$3.70		
1	A4 Display Book 20pkt Refillable Assorted	\$1.80	\$1.80		
General	Mathematics				
2	A4 Olympic 5mm Graph Book 96p (Border around Page)	\$1.85	\$3.70		
1	A4 Display Book 20pkt Refillable Assorted	\$1.80	\$1.80		
1	Scientific Calculator Casio FX82-AU 2nd Gen [New Students Only]	\$42.50	\$42.50		
1	A4 Notebook Quill Q595 (Poly Cover)	\$3.20	\$3.20		
1	Ruler 30cm Plastic Clear	\$0.50	\$0.50		

Mathematical Methods							
1	Casio FX-CG50AU PLUS Graphics Calculator [New Students Only]	\$279.00	\$279.00				
2	A4 Olympic 5mm Graph Book 96p (Border around Page)	\$1.85	\$3.70				
1	A4 Notebook Quill Q595 (Poly Cover)	\$3.20	\$3.20				
1	A4 Display Book 20pkt Refillable Assorted	\$1.80	\$1.80				
Specialist Maths							
2	A4 Olympic 5mm Graph Book 96p (Border around Page)	\$1.85	\$3.70				
1	A4 Notebook Quill Q595 (Poly Cover)	\$3.20	\$3.20				
1	A4 Display Book 20pkt Refillable Assorted	\$1.80	\$1.80				
Ancient	and Modern History						
2	A4 Exercise Book 64p Writer Premium	\$1.18	\$2.36				
2	A4 Display Book 20pkt Refillable Assorted	\$1.80	\$3.60				
Biology							
1	QCE Biology Units 1&2 Biozone Student Workbook	\$48.95	\$48.95				
2	A4 Exercise Book 96p Writer Premium	\$1.60	\$3.20				
Busines	S						
1	QCE Dot Point Business Units 1-2	\$49.95	\$49.95				
1	Highlighter Faber 6pk Assorted	\$7.50	\$7.50				
1	A4 Exercise Book 96p Writer Premium	\$1.60	\$1.60				
Chemist	ry						
1	Pearson QLD Chemistry 11 Assessment Book Units 1&2	\$31.95	\$31.95				
1	A4 Insert Binder 4D Ring 25mm Blue	\$7.50	\$7.50				
1	A4 Dividers 10 Tab Multi Coloured PVC	\$3.25	\$3.25				
2	A4 Sheet Protectors Heavy Duty 20pk	\$3.65	\$7.30				
1	A4 Loose Leaf Refills 100pk Reinforced 7mm Ruled	\$3.65	\$3.65				
Design							
1	A4 Visual Art Diary Protext	\$4.50	\$4.50				
Film, Te	levision & New Media						
1	64GB Micro SDXC UHS-I U1	\$19.95	\$19.95				
1	32gb USB Flash Drive	\$8.99	\$8.99				
1	Exercise Book 64p (9x7)	\$0.75	\$0.75				
1	Nelson Film Television and New Media for QCE Student Book with 1 Access Code	\$90.95	\$90.95				
Geography							
1	Coloured Pencils Faber Classic 12's (+Gold)	\$4.80	\$4.80				
1	Ruler 30cm Wooden	\$0.55	\$0.55				
1	Pencil HB Faber Economy 1111 Single	\$0.30	\$0.30				
1	Eraser Large Faber Dust Free	\$0.69	\$0.69				

1	A4 Display Book 20pkt Refillable Assorted	\$1.80	\$1.80	
Japane	ese estation of the second sec			
1	A4 Olympic 5mm Graph Book 96p (Border around Page)	\$1.85	\$1.85	
1	A4 Exercise Book 96p Writer Premium	\$1.60	\$1.60	
1	A4 Display Book 20pkt Refillable Assorted	\$1.80	\$1.80	
Legal S	Studies			
1	QCE Dot Point Legal Studies Units 1-2	\$49.95	\$49.95	
1	Highlighter Faber 6pk Assorted	\$7.50	\$7.50	
1	3M Post-It 680-PBG Flags Purple / Blue / Green 60s	\$5.95	\$5.95	
4	The Legal Pad Canary 5 x 8 inch	\$3.75	\$15.00	
Literat	ure			
1	A4 Notebook Collins 100lf Red & Black	\$9.95	\$9.95	
2	A4 Exercise Book 64p Writer Premium	\$1.18	\$2.36	
Marine	Science			
1	Oceangraphy and Marine Biology 11 Workbook	\$10.95	\$10.95	
2	A4 Exercise Book 96p Writer Premium	\$1.60	\$3.20	
Music				
1	A4 Music Exercise Book 96p Feint / Staved	\$2.00	\$2.00	
1	Theory of Music Integrated Course and Workbook Grade 2	\$31.95	\$31.95	
Physic	S			
2	A4 Exercise Book 96p Writer Premium	\$1.60	\$3.20	
Psycho	blogy			
1	A4 Insert Binder 4D Ring 25mm Blue	\$7.50	\$7.50	
1	A4 Dividers 10 Tab Multi Coloured PVC	\$3.25	\$3.25	
2	A4 Sheet Protectors Heavy Duty 20pk	\$3.65	\$7.30	
1	A4 Loose Leaf Refills 100pk Reinforced 7mm Ruled	\$3.65	\$3.65	
1	Oxford Psychology for Qld Units 1&2 Student Workbook	\$29.95	\$29.95	
Spanis	h			
1	A4 Display Book 20pkt Refillable Assorted	\$1.80	\$1.80	
1	A4 Exercise Book 96p Writer Premium	\$1.60	\$1.60	
Visual	Art			
1	A4 Visual Art Diary Protext	\$4.50	\$4.50	
1	64GB Micro SDXC UHS-I U1	\$19.95	\$19.95	
			My Ord	ler Total

Note: Special Pricing on this Booklist is subject to change should suppliers revise Pricing and RRP.